_ BILL OF MATERIAL
NUMBE
- Ndﬁg‘ERIFPzE Ui MATERIAL |MATERIAL DESCRIPTION
JBES 7O BE TUBE SUPPORT | el |
EXPANDED TO o 1 ~ T "SEE DWG. SEE_DWG|FRONT TUBESHEET AS_PER_DRAWING TRSTD2—T15-2004
UBESHEL] N © s~ T . SEF DWG.|SEE DWG|BACK TUBESHEET AS PER DRAWING TKST02-T5-2001
(DOUBLE GROOVE). | 3 700 [T-304L SS| SA-249 |[TUBE, 2° 0.D. WITH 18 GA WALL X 480 1 727 LG, (MIN.)
' ] 1 SEE DWG, ISEE DWG,FRONT DOME GOVER AS PER-DRAWING TKSTD2—DC~2001 X
o — 5 1 St OWG JSEE DWGJFRONT GASKET AS_PER DRAWING TKSTDZ-GK-—600!
Fwﬁﬁ%ﬁﬂ SO 1 6 1 "SFE DWG [GEE DWG|BACK DOME COVER AS PER_DRAWING TKSTD2-DC-2002
oF TUBESHEETS v NP1 | 7 1 <EE DWG. ISEE DWG,|BACK GASKET AS PER DRAWING TKSTD2-GK-6001
RN BOTH ENDS D | or(@) 8 —{<Ff DWo_ |SFE DWGJTUBE SUPPORT SHEET #1 AS PER DRAWING TKSTDZ2-55-2004
™~ 8 | 9 1 SEE DWG. |SEE DWG/TUBE SUPPORT SHEET #2 AS PER DRAWING TKSTD2-S5S—2004
) L | 6y E)or®) 10 1 EE DWC. [GEE DWGJ/TUBE SUPPORT SHEET #3 AS PER DRAWING TKSTD2 S5 —2004
TYRICALN, 1/8 N\ 1~8 L | 11 1 SEf DWG. [GEE DWGJ{TUBE SUPPORT SHEET #4 AS PER DRAWING TKSTDZ2— 55 —2004
N BOTH ENDS > 1/81 T=8 -~~~ LG e e ) @ sy 9 e U R @B - /@OR@ 12 1 SEE DWG. [SEE DWG/TUBE SUPPORT SHEET #5 AS PER _DRAWING TKSTD2— 552004
- 13 5T SEE OWG. |SEE DWGJSIDE PANEL AS PER ITEM 1 ON _DRAWING TKSTD2—CP— 2001
@\_ 14 2 SEE DWG. ISEE DWG.CENTER SIDE_PANEL AS PER ITEM 2 ON DRAWING TKSTD2—CP—2001
15 2 <EE DWG [SEE DWGJFRONT AND BACK PANEL AS PER ITEM 3 ON_DRAWING TKSTDZ—CP—2001
- - - N 13— - — &) 16 8 SEE DWG ISEE DWGJSPRAY ARM SUPPORT AS PER ITEM 4 ON DRAWING TKSTD2—CP—2001
Dor(2). 17 577 CAR. ST, [SA-193-B7BOLT, HEX HEAD 3/4" — 10 UNC X 2 374" LG, ZINC_PLATED
- R 18 56 S5 TB-8 |BOLT, HEX HEAD 3/8 - 16 UNC X 1 1/2" LG.
- / ‘ / T 19 180 S5 T8-8 |BOLT, HEX HEAD 3/8 — 16 UNC X 1" LG.
: e Y7 GAP . " Al s I 1 ; 20 204 SS 18—8 |NUT, HEX 3/8 — 16 UNC
SIDE PANELS - % 5 o SIDE PANELS W owP - I=—He™ GASKET 21 536 | 7-316 55| 18-8 |WASHER, FLAT 3/8" — MOMAGTER—CARR NQ. 92141A031
- , ‘ 22 504 | T-410 SS WASHER INTERNAL TOOTH 3/8  — MGMASTER—CARR NO. 984494031
N TS DETAIL 2 DETAIL _J3 DETAIL_4 DETAIL A 1316 55| 18-8_|WASHER, SQUARE STRUCTURAL 3/8" - McMASTER-CARR NO. 911228115
¢ CHMENT TYPICAL SIDE PANEL BOLTING TYPICAL %D%o%ﬂ\t’-:%% BOLTING SPRAYINP%REUSPORTS SIDE PANEL TO TUBESHEET BOLTING 54 : 5 NAUEPLATE, THERMAL KINETICS ASME
R ERS TYPICAL FRONT AND BACK 25N 1. S5 NAMEPLATE. THERMAL KINETICS EQUPIMENT 1D AND_PROJECT NO.
76 AS REQ,D TAPE, SEALANT 3M WEATHERBAN, 5354, 3/8" WIDE
SECTION "A-A" 57 |AS REQ,D CAULK, SEALANT, 3M MARINE, 08029, CLEAR
TYPICAL FRONT AND BACK TUBESHEET
N )’BN
d | [ ] I I - S I -
h y i = s
d ‘IL ::Bn R:h g ‘
®\ ¥ a L b + . [ " Py ° /®
t * : 4 . . . . » ° @
L = —
{ » o . 'Y . - 'Y °
-
L . _
J" AL D FOR | . . . ., = = : .
LUl _ SEALArT TAPE E s W ot W
5 ) ALOWED FOR AND CAULK | ‘ ' : . ) ' '
&9 SEALANT TAPE &9 § - - ——— -
| AND CAULK : 1 - ; 1 PR S W TR % R W R | FTH))
SEE DETAIL 2—/ SEE DETAIL 3/ —/ SEE DETAL 5-/

IOR(2 o] | .
(Dor@ LA (Dor( SEE DETAIL 1—/

SEE DETAIL. 4

_ DETAIL_© DETAIL_7 S
PRONT AN s~ COTe FRONT AND BACK PANEL ‘BOLTING BRIy
NG CURNERS ' b i - - - B
i ki P
71” / e \ 65" - / 71. /
i % o :
FJIL SEE DETAIL 6 T @ ! *
pm T -.--—-—27%"—-4-- --1/() .\r d :
Eéﬂ mmmmmmmm 4 . L '_/GD
BPO0Oa00 ol ® s !
; :::::::::m::::g:,;:;:"/ Vg afelogieugtey  Eropieriiugiosl sogiegeiepagisteplsgieye et e
- I e - N Y R || e e e TP ool o N D btoutes 1 il Jeclabaubcbunbunfudispaspaiuappuyr Yoo sty P B eterion b Spmbuboch. e feptpiagiugieggepg
. e cvr e e e s e i st S v i B APRCR | P AU SRR B SRR SRR T T T T T T T I T T I D A ST el teaaiionatomilericogicgiramgiu e gh-ai e gl S t:m#:’mgwxw.s--wu-nuunj ‘
o r et tetattetet . et e T Tt sitogltegtol Rasfosteestovptefiatopiasioptitrgh faghs g etk eglstasiauriietlesturte ftliagh faylutegesiegiiojepiogupaieyot ol ot
o b S DAy S - st ol ool fasten b e fanonnunfengnfasont e e s e gatatatatnts
o mWwW”WMmm”mm“mnmmmmﬂmemwwm:wx:::::::xmm:::::ﬂ:::::::::::::::x:nx:::::::::::: ettt tbete pafefets (et eus
fg ‘. mm*—ummr-:—-wm-—-wmm'mt:- b W W e b STND WA A o RO WS e e S by :mm:ww'*mmmm—nLﬁwmwnmmmﬂm-nmm”ﬁmhm*-,n‘- mmmmm R e d w—mmm-«mm-n--r—umn b A o S B ey ot SeS b vk s Bk et
“Gﬁ";—“ . 663%%‘ ' mmwmmnhmm—wmm-u-—um e PeTE Ywwh Bwen b e wSee mew v PR T e 0TS SRPE Ll an-t-v-“*‘uln-wmm—m wﬂwi—d:-m:lﬁn-ﬂﬂm-wm—w-ﬂ-wmm —-—Jlmn—l—l-ﬂ-ﬂ”hm—dﬁdﬂm i e AV W e W S T e ey i) +u—--—u- :-um.—u— ————————— v ]
x P eetaal  fof afatufutuimpeimiiitafotuia Hetiuistat s uafaprnt Saguttepuiot ittt et et b b tebaduatartuts (rfushetogastu e Dbttt Peptmptes bl et
g wmm" :::x::m::z:mmﬂw i ey e S b e WA BOTA W T wkts WhR (e s es muum”m'j:-—mmmm —-mm:-nm::mmnnﬁ-:zz: :31:3:::2:::::: ::::::::::: +-:::: z::::::::::::::u
0 Slebinbadunpua g . o s e e epton s Eemptatubunks faustunpadapunfospespespuoiuquipwpunpt (oo i Mesgorperpenpisier PPt e e T T IO DI IITIO =
o s e e e e e A o] e o o rn ¢ o S ":::““:'*Jt}“"""“ “““““ s o et el e B A b oustpipdenlt tpplepleeplptuapit e et tmotek:
: w9 || NI _A|EEZEEIEIzIzescogmooorecsoIooooc e o Rttt CE et T Tt i S e el il aete 1= ettt |
A S - e | S 0 | o ettt S B e e o e e A e e i e el e e e e e e o it e e S g o e e e e e e T T T T T I I T .
ol o559 1 | I |
oooooor;%c:»cmoDocao“oooogooofmooooo ol o 9| /.
b / 1 1. ||
1
7 ] " n " " n » ”
- 917%™ REF. - @@/ %" cap 7096 | 84 | 84 . B4 | 84 70'Y s W AP
o 36— 477" + 1/8" INSIDE FACE TO FACE OF TUBESHEETS e 200 " |
- SIDE PANEL
! o - JRAWING CERTIFIED FOR:
480" *Y¥ OUTSIDE FACE TO FACE OF TUBESHEETS e .
) . ELIMINARY APPROVAL
__jéllsm FOR FABRICATION
SEQUENCE NUMBER IS STAMPED MAPPROVED[FOR mﬁcmész
N CORNER OF TUBE SUPPORT ”ATF D, CONSINS
SHEET IN ACENDING ORDER . ISIMS ING
FROM FRONT TO BACK OF BUNDLE i COUSTH: IS,
LT -Ha0Y
B — NOTES: ( — --
1 | '
é . 1) TUBE BUNDLE SHALL BE DESIGNED, CONSTRUCTED AND STAMPED PER ASME S |
E J‘:}/\ SECTION VI, OIV. 1 CODE, LATEST ADDENDA. lSSUED FOR CONSTRUCTION :
' 5 . . DESIGN PRESSURE: 25 PSIG AND FULL VACUUM — _ _ -
;9; O TUBE SUPPORT DESIGN TEMPERATURE: 2507 F \
- MDMT: —20° F ot I 1A
u\/ HEAT TREATMENT: NONE DO NOT SCALE THIS DRAWING CO N F I D E N I L
NDE: PER CODE S |
VIEW "B—B" 2) REMOVE SHARP CORNERS OF ANY EXPOSED SHEET METAL EDGES v THERMAL KINETICS TK STANDARD TUBE BUNDLE
> ,
3) PRIOR TO APPLICATION OF TAPE AND CAULK, FLANGED SURFACES SHALL Engineering, PLLC & Systems, LLC CORE ASS’Y FOR 40T/DR X 10DR X 40
BE CLEAN AND DRY. USE SOLVENT CLEANER AS REQUIRED. BUNDLE (2" OD. TUBES) W/ 304L S5
4) TAPE SHALL BE APPLIED AS SHOWN TO FORM A CONTINUOUS SEAL. TAPE Evaponstion/Distilation/Chemice! Reaction/Prooess Design & Energy Conservaiion : ) . g PPN
oFs © L BE EXTENDED TO CRISS — CROSS AT LEAST 1" BEYOND ENDS. 667 Tifft Street * Buffalo, Ny 14220 | TUBES, TUBESHEET, DOMES & PANELS |3
ur * 4 i
S‘ZE PROJECT NUMBER! m ay: DATE! TH?S DRAW'NG |N DESlGN AND DETA'L 1§ THE DWG No. SHT.NO. E-t-‘l
TKSTD2 JC 07 1 2 06 EROPERTY OF THERMAL KINETICS, AND MUST 1 Qf1
0 {ISSUED FOR CONSTRUCTION 07-19-06 | JC | SCL e T — /12/ T B S O P erearony  [TKSTD2 -BC -7001 <
3 CKED DATE: FURNISHED. ALL RIGHTS OF DESIGN AND REV. 16
REV REVISION DNTE ] o O | Seen 1/2" = 1'=Q" SCL 07 —19—0 |NVENTON ARE RESERVED. COFYRIGHT 2006 0 14

g o 0 T8 MM

Y COND A Dasign 2 Tah 7 anp B

Puoandle CoreNTESIND

e o001 0dwg, 7/27/2008

AQ6 A4 PM

.....




